

Republic of the Philippines NATIONAL LIBRARY OF THE PHILIPPINES

Bids and Awards Committee

REQUEST FOR QUOTATION

Two Failed Biddings - Negotiated Procurement

In view of the two (2) failed bidding, the **National Library of the Philippines (NLP)** Bids and Awards Committee (BAC) invites interested bidders to participate in the Negotiated Procurement for **Supply and Delivery of Filipiniana Books for Batanes Provincial Library (Negotiated Procurement).** Bidding will be through **LINE Item Bidding** with an Approved Budget for the Contract (ABC) of **Seventy Six Thousand Eight Hundred Ninety Pesos (Php76,890.00)** in accordance with Section 53.1 Two Failed Biddings as specified in the Revised Implementing Rules and Regulations (IRR) of Republic Act (RA 9184), otherwise known as the "Government Procurement Reform Acts". Bids received in excess of the ABC shall be automatically rejected at bid opening.

Unit	Item Description	Quantity	Unit Cost	Total Cost
Volume	2020 Pre-week quick, comprehensive and effective reviewer for the bar exam in labor law and social legislation / Atty. G. Robeniol. 2020. ISBN 978-621-02-1042-2. Central Books	2	1,260.00	2,520.00
Volume	Ang mga iniiwan ng tubig: mga tula / Jason Tabinas. 2020. ISBN 9789715509534. ADMU Press	2	315.00	630.00
Volume	The Art of collecting: a guide to the Philippine market / Joseph Sedfrey S. Santiago. 2020. ISBN 978-971-550-914-5. ADMUPress	2	480.00	960.00
Volume	Bar Q&A for the past 10 years civil law / Dean Viviana Martin Paguirigan. 2020. ISBN: 978-621-02-1016-3. Central Books.	2	680.00	1,360.00
Volume	Bullying includes cyberbullyng / J.C.Jr. (Atty.) Monemayor. 2020. ISBN 978-621-02-1042-2. Central Books	2	820.00	1,640.00
Volume	Cancer, hounding yet widespread are we ready to surrender? / J.C.Jr. (Atty.) Montemayor. 2020. ISBN 978-621-02-0969-0. Central Books	2	840.00	1,680.00
Volume	Cigarette Smoking and ill effects / J.C.Jr. (Atty.) Monemayor. 2020. ISBN 978-621-02-0972-3. Central Books	2	680.00	1,360.00
Volume	Civil Law reviewer Vol. 1, 2020 edition / Dean E. Albano. 2020. ISBN 978-621-02-1056-9. Central Books	2	980.00	1,960.00





Republic of the Philippines NATIONAL LIBRARY OF THE PHILIPPINES Bids and Awards Committee

Volume	Civil Law reviewer Vol. 2, 2020 edition / Dean E. Albano. 2020. ISBN 978-621-02-1057-6. Central Books	2	1,460.00	2,920.00
Volume	Effects of alcohol in the body / J.C.Jr. (Atty.) Monemayor. 2020. ISBN 978-621-02-0935-8. Central Books	2	680.00	1,360.00
Volume	The First Philippine republic and the United States 1898-1907 / PHIMCOS, the Philippine Map collectors society 2015. sb.	2	750.00	1,500.00
Volume	Formation of Philippine society. 2012. ISBN 978-971-94465-1-4. Mediawise	2	800.00	1,600.00
Volume	Grassroots globalization: reforestation and culturual revitalization in the Philippines Cordilleras / Shimizu Hiromu. 2019. ISBN 9789715509282. ADMU Press	2	545.00	1,090.00
Volume	Introduction to Philippine legislation 2020 edition. / D. Aquino. 2020. ISBN 978-621-02-1106-1. Central Books.	2	1,180.00	2,360.00
Volume	Jose Rizal: liberalismo at ang balintuna ng Kolonyalidad / Lisandro E. Claudio. 2020. ISBN 9789715509466. ADMU Press.	2	395.00	790.00
Volume	Legal framework of Philippine education 2020 edition. / D. Aquino. 2020. ISBN 978-621-02-1000-2. Central Books.	2	1,180.00	2,360.00
Volume	Mapping the Philippine seas / PHIMCOS, The Philippine Map Collectors Society. ISBN 978-971-95907-2-9. hb	2	2,700.00	5,400.00
Volume	Moral politics in the Philippines: inequality, democracy and the urban poor / Wataru Kusaka. 2019. ISBN 9789715508988. ADMU Press	2	400.00	800.00
Volume	Obligation and contracts 2020 edition / D. Aquinno. 2020. ISBN. 978-621-02-1044-6. Central Books.	2	1,180.00	2,360.00
Volume	On the March: The Jesuits in the philippines since the restoration (a cofeetablebook). 2018. ISBN 978-621-8044-02-9. Mediawise.	2	5,000.00	10,000.00
Volume	The Philippine Constitution 2020 edition / D. R. Aquino. 2020. ISBN 978-621-02-1038-5. Central Books	2	1,280.00	2,560.00
Volume	The Philippines in the 19th century: a collection of Prints / Rudolf J.H. Lietz. ISBN 978-971-91937-1-5. 2011. hb. RLI Gallery of Prints	2	2,625.00	5,250.00
	1	1	1	l





Republic of the Philippines NATIONAL LIBRARY OF THE PHILIPPINES

Bids and Awards Committee

			TOTAL	76,890.00
Volume	Three hundred years of Philippine Maps. Philippine-Spanish friendship day exhibit 1598-1898 / PHIMCOS, the Philippine Map Collectors Society. 2012.	2	3,500.00	7,000.00
Volume	Tell me more about labor law / Duano. 2020. ISBN 978-621-02-1013-2. Central Books	2	920.00	1,840.00
Volume	Teacher and the Philippine law: legal aspect of education in the Philippines / S.C. Madrona. 2020. ISBN 978-621-02-1013-2. Central Books.	2	680.00	1,360.00
Volume	Supreme court of the Philippines, history and legacy / J.C. Jr. (Atty.) Montemayos. 2020. ISBN 978-621-02-0982-2. Central Books.	2	980.00	1,960.00
Volume	Statutory construction (third edition) 2020 edition / D. Aquino. 2020. ISBN 978-621-02-1031-6. Central Books.	2	1,180.00	2,360.00
Volume	Some are smarter than others: the history of Marcos' crony capitalism / Ricardo Manapat. 2020. ISBN 9789715509268. ADMU Press	2	790.00	1,580.00
Volume	School is life: progressive education in the Philippines / Ani Rosa Almario and Tina S. Zamora (Editors). 2020. ISBN 9789715509893. ADMU Press	2	495.00	990.00
Volume	Rizal: a tribute. 2011. ISBN 978-971-94465-3-8. Mediawise	1	800.00	800.00
Volume	Revised rules of procedure before the National Commission on the Indigenous People / D.R. Aquino. 2020. ISBN 978-621-02-0998-3. Central Books.	2	780.00	1,560.00
Volume	Practical Research 1 (Rev. ed) / Stella Eloisa R. Fong; Cezar R. Tigno. 2019. ISBN 978-971-07-4320-9. Vibal Pub	2	350.00	700.00
Volume	Philosophy of Law 2020 editions / D. Aquino. 2020. ISBN 978-621-02-1037-8. Central Books	2	1,280.00	2,560.00
Volume	Philippine life insurance law / L.A. Martirez, 2020ed., pb. ISBN 978-621-02-1015-6. Central Books.	2	860.00	1,720.00

Please quote your best offer.

Submit your quotation duly signed by you or your representative and of the following eligibility requirements not later than three (3) days:

- 1. Latest Income/ Business Tax Returns
- 2. Mayor's/Business Permit





Republic of the Philippines NATIONAL LIBRARY OF THE PHILIPPINES

Bids and Awards Committee

3. PhilGEPS Certificate of Registration

Bidding is restricted to Filipino citizens/sole proprietorship, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA 5183 and subject to Commonwealth Act 138.

Contract/delivery schedule is within Ten (10) days upon received of Notice to Proceed.

Liquidated damages equivalent to one tenth of one percent (0.001%) of the value of the goods not delivered within the prescribed delivery period shall be imposed per day of delay. National Library of the Philippines shall rescind the contract once the cumulative amount of liquidated damages reaches ten percent (10%) of the amount of the contract, without prejudice to other courses of action and remedies open to it.

For further information, please refer to:

MARIE JOY H. BESTOIR

ELEANOR C. SIYANG

PHIL MARC JACINTO

BAC Secretariat

T.M. Kalaw St., Ermita, Manila

Tel. No. 5336-7200 loc. 212

Email: bac@nlp.gov.ph

Bids must be submitted to the NLP BAC email on or before May 4, 2021 5:00 pm. Late bids shall not be accepted. Aside from the electronic copy of your original financial bid offer and documentary requirements, please email also an excel (.xlsx) format of your financial bid offer.

The NATIONAL LIBRARY OF THE PHILIPPINES reserves the right to accept or reject any bid, to annul the bidding process, and to reject all bids at any time prior to contract award, without thereby incurring any liability to the affected bidder or bidders.

Sgd. SUSAN J. FETALCO

BAC Chairperson

